
Mobile work bench

Pult delovni mobilni

940T

EN

SLO

uniortools.com

90945699

washer M6 - 52 x

6 9

1

2

3

4

rotated wheel with brake

 �xed wheel

rotated wheel 

7
8
9

7
8
9

7
8
9

6

upper platte - 1 x

2

base platte - 1x

1

pillar - 4 x

3

handle - 1 x

4

wheels - Ø 100 - SET:

�xed wheels - 2 x
rotated wheel - 1 x
rotated wheel with brake - 1 x

5

5

5

5

screws - M6x12 - 50 x - S 10
screws - M6x16 - 2 x - S 8

7 S

security nut - M6 - 52 x

8

S-10

ruber cover - 1 x

washer M6 - 52 x

6 9

1

2

3

4

rotated wheel with brake

 �xed wheel

rotated wheel 

7
8
9

7
8
9

7
8
9

6

upper platte - 1 x

2

base platte - 1x

1

pillar - 4 x

3

handle - 1 x

4

wheels - Ø 100 - SET:

�xed wheels - 2 x
rotated wheel - 1 x
rotated wheel with brake - 1 x

5

5

5

5

screws - M6x12 - 50 x - S 10
screws - M6x16 - 2 x - S 8

7 S

security nut - M6 - 52 x

8

S-10

ruber cover - 1 x

Unior d.d., Kovaška cesta 10, 3214 Zreče, Slovenia, T: +386 3 757 81 00, www.uniortools.com



pu
t r

ub
er

 co
ve

r 
 o

n 
up

pe
r p

la
tte

 

2

5

  r
ot

at
ed

 w
he

el
 o

n 
th

e 
sa

m
e 

sid
e 

as
 h

an
dl

e

 �
xe

d 
w

he
el

s 
 o

n 
ba

se
 p

la
tte

  
 w

ith
 

sc
re

w
 M

6x
12

 
, n

ut
 

 a
nd

 w
as

he
r 

- u
se

 so
ck

et
 w

re
nc

h 
S 

10
�x

ed
 p

ill
ar

s 
 o

n 
ba

se
 p

la
tte

 
 w

ith
 

sc
re

w
 M

6x
12

 
, n

ut
 

 a
nd

 w
as

he
r 

- u
se

 so
ck

et
 w

re
nc

h 
S 

10

1

�x
ed

 u
pe

r p
la

tte
 

 o
n 

pi
lla

s 
 w

ith
 

sc
re

w
 M

6x
12

 
, n

ut
 

 a
nd

 w
as

he
r 

- u
se

 so
ck

et
 w

re
nc

h 
S 

10

 �
xe

d 
ha

nd
le

 
 o

n 
up

er
 p

la
tte

 
 tr

hu
gh

t t
he

 p
ill

ar
 

 w
ith

 s
cr

ew
 M

6x
16

, n
ut

 
 a

nd
 w

as
he

r 
 - 

us
e 

so
ck

et
 w

re
nc

h 
S 

8

3

4

6

9

9

9

9

2

2

2

1

1

3

3

3
4

5 7

7

7

7

8

8

8

8


